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N & 0l & Av S Z M A
20208 = =& 2 3] LESH YAFE ~ AAMH
2N B
M H28H F0HAUX WEHIT ==
ool 2O BIMHIA 25 EERED
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
ERgsil 499,227 533,725 A 34,498
HSH WX HWERIDA *= 443,067 477,565 A 34,498
29 dIMHIA 235 443,067 477,565 N 34,498
A2=sE 24 80,586 115,084 N 34,498
101 @14l 45,226 57,884 A 12,658
04 JI2ZtHZ22HEE =+ 45,226 57,884 A 12,658
O XN=2=S=Y 2322 AR 45,226 57,884 A 12,658
- JlZs 34,360 41,232 A6,872
- =54 4,124 7,147 A 3,023
—Qx=g 3,574 3,574 0
— S E SOt 2,400 2,400 0
—ZUZRE 768 3,531 N2,763
201 ¢4 35,360 57,200 A21,840
01 AFR2t2lHl 6,000 6,000 0
OX2==g sl&c 6,000 6,000 0
02 232gHl 29,360 51,200 A21,840
OHIIRS 19,200 24,000 A 4,800
O3 960 18,000 A 17,040
Od&st & IHUY RS 600 600 0
Oxs==sg a5 6,000 6,000 0
OJIEtR= 600 600 0
OX2==28 AdZEH |X 2,000 2,000 0

- 272 -




N = 0l & At & Ml A

20208 =& 2 3 LA LAZ ~ AAMH

2N 28
M 2YH FOHAUX UWERID 2=
Helr 2498 dIAMHA 23 (&)
SA-EB - BAEH) - NRAY - BHES 0] &b 2 p/E-T HI RS2
2ad 528,059 521,059 7,000
2298 FHIX UWERKIA 2= 458,979 451,979 7,000
M I ML 25 458,979 451,979 7,000
HEAMHIA 2229 152,179 151,179 1,000
201 Let24E] 115,676 114,676 1,000
01 AFR2telHl 19,430 18,430 1,000
O2Y 2=sdy 2e=23 4,000 3,000 1,000
FolEe MEEd Hd 77,860 71,860 6,000
201 L Er2A | 43,000 40,000 3,000
01 At 22l bl 16,000 13,000 3,000
Oo=sXz2 =¢ I+ 3,000 0 3,000
206 M= Hl 8,000 5,000 3,000
01 M= 4l 8,000 5,000 3,000
2248 Mg 7Y 8,000 5,000 3,000
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> A
N & 0l & Av S Z M A
020 S X 2 5 YEH YMS ~ KA
SN 48
Bu: ga0 BOXNK UEAT 75
SRl S48 HIMHA 23 CERED
2N -3 -2 (SH) - NHEAMY - BES Ol &F o4 I E M Husz
H40 419,161 424,296 £5,135
H40 HOXX YWEHD 7S 350,961 356,096 A5,135
H40 HIAHIA ZE 350,961 356,096 A5,135
HHAHA B2 70,337 71,337 A1,000
201 Yot Fh| 66,912 67,912 A1,000
02 232l 53,312 54,312 A1,000
ONed 220 0 1,000 A1,000
Foimol MEsy Hu 80,564 90, 199 £9,635
101 21248 29,684 38,819 £9,185
VPR EESTETPS 29,684 38,819 £9,135
OBIAIDIK BHFH 212y 2,000 5,760 A3,760
O440 MEBHSZH B2l L AIAAL ©2
i 9,684 15,059 A5,375
—Jles 7,216 11,545 A4,329
RE2FE4Y 1,718 2,474 AT56
—40 22 750 1,040 £290
201 2Bt | 5,000 7,500 A2,500
01 AbR22lt] 0 2,500 £2,500
OFHEH ZUIYXE 0 2,500 A2,500
206 T 2 bl 8,000 6,000 2,000
NEE 8,000 6,000 2,000
OBLZH W2 7 8,000 6,000 2,000
HoH ol FoI=e o 163,500 158,000 5,500
201 Yyt | 3,500 8,000 5,500
01 AbR 22l 13,500 8,000 5,500
OMat ol & =3 Tyl AXE 3,500 8,000 5,500
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N & 0l & Av S Z M A
20208 = =& 2 3] LESH YAFE ~ AAMH
2N Qa0
MM Q40 HUXX UWENT 75
el 20 HdFHANH A 23 (Sl & &)
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
s 696,461 696, 133 328
eH FHIX UWERKID 2= 615,241 614,913 328
0 HIMHA 235 615,241 614,913 328
HEAMHIA 2229 226,805 241,582 N4, 777
101 @14l 47,366 42,143 5,223
04 JI2ZtHZ22HEE =+ 47,366 42,143 5,223
OoAa2aZ =4 SZEH & AA2&E AlS
el 20,368 15,145 5,223
—Jlzs 17,868 12,645 5,223
— 40 EE8= 2,500 2,500 0
201 Lt 157,939 177,939 A20,000
01 AFR 22l 25,448 45,448 A 20,000
O 25t AL 0 20,000 220,000
FOIEO MEEH A 150,436 135,331 15,105
101 @124 H] 60,686 55,711 4,975
04 DIt Z22XsSE* 60,686 55,711 4,975
O2+=#d HH 8¢ 9,975 5,000 4,975
201 ¢er24| 34,850 32,700 2,150
01 At22t2l bl 20,250 18,100 2,150
O2+9H JF2AxH ZH X 11,150 9,000 2,150
206 M= Hl 23,980 16,000 7,980
01 M= 4l 23,980 16,000 7,980
OZ2ZXH Mg P (ES) 13,980 6,000 7,980
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=
N = 0l & At & Ml A
020 T £ 25 YLEN YA ~ XA
SN BES
HE: BEM HONK UEAD 25
Sl BEE BHAHA L3 (29l & 2)
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
2HEH 525,153 525,153 0
2EH FUHIX UWERKID 2S5 445,773 445,773 0
2HEH HAIMHIA 25 445,773 445,773 0
FOIEO MEEHH A 82,640 82,640 0
101 @14l 18,000 25,000 AT,000
04 DIt 22 XS+ 18,000 25,000 AT7,000
OO0ISUE Hel d&xd UFY 3,000 10,000 A7,000
206 M= Hl 31,000 24,000 7,000
01 M= 4l 31,000 24,000 7,000
OO0Sh2 Hel 3&2x2d Mz 7Y 27,000 20,000 7,000
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N = 0l & At & Ml A
20208 =& 2 3 LA LAZ ~ AAMH
2N ZE
A 2XH FHNX UWERKT 2=
oo 2 I AHA HE (22 &d)
SA-EY.B(BH) - PN - BES 04l &t o p/E-L HDZ2
Zad 470,728 451,320 19,408
288 FHIX WERID *= 410,588 391,180 19,408
Z&H HAMHIA 25t 410,588 391,180 19,408
FOIEO MEEHH A 80,924 61,516 19,408
201 Let24E] 15,408 4,000 11,408
01 AFR2telHl 6,000 0 6,000
Oo=sXza 2828 7Y 6,000 0 6,000
02 3324l 9,408 4,000 5,408
O=Xaz 29 5,408 0 5,408
206 M= Hl 20,000 12,000 8,000
01 M= dl 20,000 12,000 8,000
Ogd2xd M=t 20,000 12,000 8,000
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N = 0l & At & Ml A

S R=Pl

M dxH HFHAX WEHIT ==

Sol: GXIB BIMHIA 2 CERED
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2

gXe 363,782 360, 782 3,000
SX¢ FHUX WERID *= 305,582 302,582 3,000
SXH dEAMHA 235 305,582 302,582 3,000
FOIEO MEEHH A 34,700 31,700 3,000
201 Let24E] 7,000 4,000 3,000
02 2324l 7,000 4,000 3,000
OMeotderd CCTV = Al&2 3,000 0 3,000
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A & 0l & AF 2 E A A
20208 = =& 2 3] LESH YAFE ~ AAMH
M XIAH
M AAME HFOHUX WERD 2=
Sl AAe dHANH A 235 (Sl & &)
SN SAGEA) - MRALY - BES 0l &k o4 0% o Hl D&
Xl AHH 383,115 383,115 0
KA EHXX WERID *= 324,915 324,915 0
KAHH B MHIA 25 324,915 324,915 0
FOIEO MEEHH A 53,690 56,690 A 3,000
101 @14l 20,990 19,170 1,820
04 JI2ZtHZ22HEE =+ 20,990 19,170 1,820
O1iB3sd Z2x4d FHel o2 1,820 0 1,820
OgZ =HIJ o2 3,380 5,200 A 1,820
Ootd 2HIJ] 2 5,720 3,900 1,820
206 M= Hl 1,180 6,000 A4,820
01 MHZ 4l 1,180 6,000 A 4,820
O1lsd 2Zxd M7 180 5,000 N 4,820
HoHoe =gl=3 oiZ 166,000 163,000 3,000
201 ¢er24| 11,000 8,000 3,000
01 AF2 22l 11,000 8,000 3,000
OMoioe ¥ =7 HH X2 11,000 8,000 3,000
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